
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

5th Month, 2nd Week, 3rd Day Syllabus: Unit # 9:  Thunder sound reaches the

ground after lightning and relationship of amplitude

and frequency. 

Q.No.1 Encircle the correct answer from the following choices. (0.5×4=2)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. Lightning is the emission of___________ ®®®®''''''''''''»»»»ZZZZyyyyZZZZ`̀̀̀ììììXXXX

(a) Kinetic energy »"545ë JE
G
HZ3,Y (b) Magnetic energy
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(c) Mechanical energy
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GZ3,Y (d) Electromganetic energy Z¼z!5½545ë G
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2. How many factors affect the energy transferred by a waves? 

zzzz----iiiiÐÐÐÐvvvvƒƒƒƒääääzzzzZZZZààààZZZZ3333,,,,YYYYÃÃÃÃÄÄÄÄúúúúZZZZïïïïOOOOWWWW,,,,™™™™DDDD÷÷÷÷????

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

3. The sound of thunder reaches you after lightning in:

®®®®ÆÆÆÆˆ̂̂̂¤¤¤¤////`̀̀̀ÅÅÅÅMMMMzzzzZZZZiiiiMMMM\\\\JJJJ----''''''''''''~~~~BBBBìììì::::

(a) Few seconds P²i (b) Few minutes P4

(c) Few hours P[RV (d) Few days PŠâV

4. A low amplitude wave is: ZZZZqqqq----ÁÁÁÁZZZZ
''''....5555ÐÐÐÐ

öööö
GGGG
FFFFkkkkeeeezzzz----ƒƒƒƒCCCCìììì::::

(a) High energy wave ic*Š{Z3,YzZàz- (b) High frequency wave ic*Š{�ÛŕzZàz-

(c) Low energy wave ÁZ3,YzZàz- (d) It may be low or high energy wave

tic*Š{c*ÁZ3,YzZàz-ƒ$Ëì

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Lightning is seen earlier and thunder is heard later. Why?

®¬Š3ðŠîìZzg¤/`ˆ~‹ðŠîìXYV?

(ii) What is amplitude? Z
'.5Ð

ö
G
FkeHì?

Q.No.3. Write a note on factors affecting the energy of wave. (4)

zzzz----ÅÅÅÅZZZZ3333,,,,YYYYÃÃÃÃOOOOWWWW,,,,™™™™ääääzzzzZZZZááááúúúúZZZZïïïï6666,,,,ââââ^̂̂̂KKKKXXXX
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